
Accelerated math. Homework 16.   

Problems marked with * are more difficult.  

 

 

1. Evaluate the following expressions (hint: try to use the most efficient way to do it, do some steps using 

decimals and other using normal fraction): 
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(Answer is 1) 

2. Instead of M and N put the right expressions to get a true statement. 

a. (7𝑥 − 𝑁) − (𝑀 + 2𝑦) = 3𝑥 − 3𝑦 

b. (𝑀 + 𝑁) − (2𝑎 − 𝑏) + (𝑎 − 4𝑏) = 5𝑎 + 7𝑏 

c. (𝑎 − 𝑀) − (𝑁 + 7𝑏) − (2𝑎 + 𝑏) = −5𝑎 − 10𝑏 

d. 2 ∙ (𝑀 − 𝑏) = 14𝑎 − 2𝑏 

e. 𝑀(2𝑎 + 3𝑏) = −6𝑎 − 9𝑏 

f. 𝑁 ∙ (2𝑥 − 𝑀) = 12𝑥2 − 18𝑥𝑦 

g. 3𝑎 ∙ (𝑁 + 𝑀) = 15𝑎𝑏𝑐 − 3𝑎𝑐2 

3. Simplify the following expressions: 

 

a. −(𝑎 + 𝑏)(𝑎 + 𝑏) 

b. −(𝑥 − 𝑦)(𝑥 − 𝑦) 

c. (𝑎 − 𝑏 − 𝑐)(𝑎 − 1) 

d. (2𝑚 − 𝑛)(𝑛 − 3𝑚) 

e. (𝑎 + 1)(𝑎 + 1)(𝑎 + 1) 

f. (𝑥 + 1)(𝑥2 − 𝑥 + 1) 

4. Diagonals of a parallelogram intersect at midpoint of the both segments. Prove it.  

 

 

 

 

 

 


